(SN
<
T

a(d cot(B))

0% @) (rad)

I B Lk

AT [ : 1 i

2 3 -1 2 3

TPlpg)T (PCA t%obeamlin:elf) 10 1 TPlpg)T (PCA t%obeamlin:eLP
[—=— DQM_original_stepZ_tibar-phasel-newgeom

M_pixelCPETemplate_step2_ttbar-phasel-newgeom

—e— DQ
—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom
—+— DOM_pixelCPETemplateCutChiSquare5Test_step2_ttbar-phasel-newgeom

~ =
£ 3 £
o o
e | e
= =
S >
S10'E
o E 2
5 C 5

Ratio

-u“ i

]

b L -
10 L 1P (pca dbeamiindf

1071 1

Re) E
T E
x GF
2F
1:_ ................




	Contents
	Page 1


